Week 14
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( Continuation) 5
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Stretcheol clodeca hedlron

Jo construet such Hamibtonias
GF cycles. We have inner Verb'c&e%l/;/,esf/ l/,Wf %%/Z veihes
6,289910,11,12,13, 14,15 and owter verte 16,1%18,19,20.

cle must connect outer verticss with medde vertices.
let 528 193¢ H, (20 1¥5eH =>4/ 1531 =214 135 H, Assceme 113 50e
s, 1) = § 9125k, 115 IEH. Ho 125/67 Y =167,
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Wee k 11
Since 11,5%5¢H tlen $425eH . Ao, 12,35¢H. Houce 12 25¢4.

Problem 4. Deoww o pictur ceeke. By imagining +that
the botlom S%W&P (;‘s setr?&jttglzwo/ ' E ot 5 /a,-(é adraw 3
a,W/i Oé the flatlened cute. [s 4 Comillonin, |
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Froblemd. 4 conrected b G has 11 vertices and 53edes.
Show that & s Hm'm) le. & haya Hearrllo nean
C‘gde. Show that G dees net hove ar Ealer corcudt.

Solutron,
@ ket G=Cv E), /IVI=11, IE/=53.

We harve, deg (x)e 10, ¥ xeV (we /ng;?’/d@f a /7
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If deg (x,)= % or 9 then § does not have an Euler Coirced't.
(hse 1) dloes not hotd, since  if depl=/C ¥xel except ype v
Hion  doply)= 10 abs0
Lose 3) dees not 4ol @3 well, Iwclees, 72?//(/:/0/ txe V
except o andz, Then n,[’;{/é//z?a/ﬂﬁ/d%??/?- +lewee

41’/[)4:9 a9 and then G does not pessess an baler cerceeit.

Rrostems. Show o vy

@) has  both an “Euber cirut and & Hamilloncan grete
(8) has no Eulor cireed but has a  Hamillorway cirveet:

(2) has an Fulr cercedt bet by no a Hamcblolrean %c/ej
(@) has nedher an ELler crcet, nore Herne blornia,, cypele.
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on Hamubtonion
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Hat will be w another
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